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In [5]: M

from sklearn.model_selection import GridSearchCV
from sklearn.svm import SVC
import pandas as pd

In [6]: M

from sklearn.datasets import load_iris
from sklearn.model_selection import train_test_split
iris = load_iris()

In [7]: M

X_train, X_test, y_train, y_test = train_test_split(iris.data, iris.target,
random_state=0)

In [8]: M
param_grid = [{'kernel': ['rbf'],

'c': [0.001, 0.01, 0.1, 1, 10, 100],
‘gamma’: [0.001, 0.01, 0.1, 1, 10, 100]},

{'kernel": ['linear'],
C': [0.001, 0.01, 0.1, 1, 10, 100]1}]

print("J2lE == :#n{}".format(param_grid))

dele =25:
[{'kernel": ['rbf'], 'C': [0.001, 0.01, 0.1, 1, 10, 100], 'gamma': [0.001, 0.01, O.
1, 1, 10, 100]}, {'kernel": ['linear'], 'C': [0.001, 0.01, 0.1, 1, 10, 100]}]
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In [9]:

grid_search = GridSearchCV(SVC(), param_grid, cv=>5,

grid_search.fit(X_train, y_train)
print("E& 1met0lel: {}".format(grid_search.best_params_))
print("=10 WXt HS &= {:.2f}".format(grid_search.best_score_))

return_train_score=True)

A Ttetolel: {'C': 10, 'gamma': 0.1, 'kernel': 'rbf'}
0 WX HEs &4 0.97
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In [10]:
results = pd.DataFrame(grid_search.cv_results_)
# &5 0 U2 2= /ol Z2U4E &EXIAIZLILCH

display(results.T)

0 1 2 3 4

mean_fit_time  0.00418963 0.0013916  0.00121255 0.00100226  0.00101514 0.0001996¢

std_fit_time 0.00158592 0.000483649 0.00041019  1.7953e-05 1.98375e-05 0.0003993¢

mean_score_time 0.00158443 0.000401497 0.000804567 0.000998831 0.000390482

std_score_time 0.000802272 0.000491736 0.000403458 1.33685e-06 0.000478431

param_C 0.001 0.001 0.001 0.001 0.001 0.0¢
param_gamma 0.001 0.01 0.1 1 10 1C
param_kernel rbf rbf rbf rbf rbf r
{'C". 0.001, {'C". 0.001, {'C". 0.001, {C"- 0.001 (C': 0.001 {'C" 0.00

arams ‘gamma: ‘gamma ‘gamma: ' an.1m'a" 1’ ' amr.na." 10, ‘gamm:

P 0.001, 0.01,'kernel: 0.1, 'kernel" ,kgmel,, b} ,iemel,_ oy 100, kerne
'kernel": 'rbf'} 'rbf'} 'rbf'} ’ ’ b

split0_test_score 0.347826 0.347826 0.347826 0.347826 0.347826 0.3478:

split1_test_score 0.347826 0.347826 0.347826 0.347826 0.347826 0.3478:

split2_test_score 0.363636 0.363636 0.363636 0.363636 0.363636 0.3636:

split3_test_score 0.363636 0.363636 0.363636 0.363636 0.363636 0.3636:

split4_test_score 0.409091 0.409091 0.409091 0.409091 0.409091 0.4090¢

mean_test_score 0.366403 0.366403 0.366403 0.366403 0.366403 0.3664(

std_test_score 0.0224845 0.0224845 0.0224845 0.0224845 0.0224845 0.02248¢

rank_test_score 27 27 27 27 27

-
Z

split0_train_score 0.370787 0.370787 0.370787 0.370787 0.370787 0.3707¢

split1_train_score 0.370787 0.370787 0.370787 0.370787 0.370787 0.3707¢

split2_train_score 0.366667 0.366667 0.366667 0.366667 0.366667 0.3666¢

split3_train_score 0.366667 0.366667 0.366667 0.366667 0.366667 0.3666¢

split4_train_score 0.355556 0.355556 0.355556 0.355556 0.355556 0.3555¢

mean_train_score 0.366092 0.366092 0.366092 0.366092 0.366092 0.3660¢

std_train_score  0.00558129  0.00558129  0.00558129 0.00558129  0.00558129  0.005581:

23 rows x 42 columns

o 0~42& ZZ{o| OHE Mtt0|H gfS 7HX[2 Z1HE =2l

18| MX|E R HE M50 ZE ol
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In [11]:

from sklearn.model_selection import cross_val_score

In [12]:

param_grid = { 'C' : [0.001, 0.01,

0.1, 1, 10, 100],
‘gamma': [0.001, 0.01, 0.1,

1, 10, 100] }

scores = cross_val_score(GridSearchCV(SVC(), param_grid, cv=5),

iris.data, iris.target, cv=5)

print("wWxt 2= &4 ", scores)
print("Wxt HE 2 H4: ", scores.mean())
print(param_grid)

wi AE ¥ [0.96666667 1. 0.96666667 0.96666667 1. ]
wx B 2 8= 0.9800000000000001
{'¢c': [0.001, 0.01, 0.1, 1, 10, 100], 'gamma': [0.001, 0.01, 0.1, 1, 10, 100]}
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